Auxien Road Gas Company, Inc.

Box 785 Prestonsburg, Kentucky 41653

Estill B. Branham President

(606) 886-2314

May 28, 2004

RECEIVED JUN 0 1 2004

Mr. Thomas Dorman Executive Director Public Service Commission PO Bôx 615 Frankfort, KY 40602

Case 2004-00205

Executive Director's Office

Dear Mr. Dorman:

Enclosed is the Gas Cost Recovery for July 2004 thru September 2004.

If you have any questions, please call at the above number.

Sincerely, Ce

Kimberly Crisp

Auxier ROAD GAS Co

QUARTERLY REPORT OF GAS COST RECOVERY RATE CALCULATION

Date Filed	1;
	MAY 28, 2004
Date Rates	to be Effective:
	July 1, 2004
	·
Reporting	Period is Calendar Quarter Ended:
	March 31, 2004

APPENDIX B

SCHEDULE I

GAS COST RECOVERY RATE SUMMARY

Aa ant	Unit	Amount
<u>Component</u> .	\$/Mcf	6.7997
Expected Gas Cost (EGC)	\$/Mcf	(,8445)
_ pafund Adiustment (RA)	\$/Mcf	
+ Actual Adjustment (AA)	\$/Mcf	.3196
, mataman Adolerment Lanj	\$/Mcf	6.2748
= Gas Cost Recovery Rate (GCR)	- Co/	r r .
GCR to be effective for service rendered from July t	0 5-4	`
GCR to be an		
	Unit	Amount
A. EXPECTED GAS COST CALCULATION		703860
	\$	•
Total Expected Gas Cost (Schedule II)	Mcf	103514
+ Sales for the 12 months ended waster	\$/Mcf	6.7997
= Expected Gas Cost (EGC)		
PREUDID ADDISOMENT CALCULATION	Unit	Amount
B. REFUND ADDODITION (Sob. III)	\$/Mcf	
Supplier Refund Adjustment for Reporting Period (Sch. III)	\$/Mcf	
+ Previous Quarter Supplies Complian Refund Adjustment	\$/MCI	
+ Previous Quarter Supplier Refund Adjustment + Second Previous Quarter Supplier Refund Adjustment + Third Previous Quarter Supplier Refund Adjustment	\$/Mcf	
4 Third Previous Quarter Supprison	\$/Mcf	
= Refund Adjustment (RA)	rin i k	Amount
C. ACTUAL ADJUSTMENT CALCULATION	Unit	
	\$/Mcf	8,38,
Actual Adjustment for the Reporting Period (Schedule IV)	\$/Mcf	(.1893)
Actual Adjustment for the Reported Adjustment + Previous Quarter Reported Actual Adjustment	\$/Mcf	(,2852)
+ Previous Quarter Reported Actual Adjustment + Second Previous Quarter Reported Actual Adjustment + Third Previous Quarter Reported Actual Adjustment	\$/Mcf	(8(27.5)
+ Third Previous Quarter Reported	\$/Mcf	(28442)
= Actual Adjustment (AA)	Uniţ	Amount
D. BALANCE ADJUSTMENT CALCULATION	Onite	
D. BALANCE ADDODITED	\$/Mcf	,1064
Balance Adjustment for the Reporting Period (Schedule V)	\$/Mcf	, 1248 ,0064
+ previous Quarter Reported Ralance Adjustment	\$/Mcf	403
+ Previous Quarter Reported Balance Adjustment + Second Previous Quarter Reported Balance Adjustment + Third Previous Quarter Reported Balance Adjustment	\$/Mcf	
+ whird Previous Quarter Reports	\$/Mcf	,3196
= Balance Adjustment (BA)	•	

SCHEDULE II
EXPECTED GAS COST

Actual* Mcf Purchas	es for 12 months end	ed <u>MArd</u>	31,04	
(1) (2)	(3) Btu	(4)	(5)**	(6)
Supplier Dth	Conversion Factor	Mcf	Rate	(4)x(5) Cost
Constellation Energy		15829	9.3644	148229
A Ex- Kaar Driving		4591	3.10	14232
courable resources		7512	9.73	73092
(BS/WAN		22090	7.84	64945
Colombia NIR	,	49706	0211.8	403364

Totals 99728 703862

Line loss for 12 months ended MRVM31.04 is 0 based on purchases of 99728 Mcf and sales of 103514 Mcf.

	Unit	Amount
Total Expected Cost of Purchases (6)	\$	703862
+ Mcf Purchases (4)	Mcf	99728
= Average Expected Cost Per Mcf Purchased	\$/Mcf	7.0578
x Allowable Mcf purchases (must not exceed Mcf sales + .95)	Mcf	99728
= Total Expected Gas Cost (to Schedule IA.)	\$	703860

^{*}Or adjusted pursuant to Gas Cost Adjustment Clause and explained herein. **Supplier's tariff sheets or notices are attached.

SCHEDULE IV ACTUAL ADJUSTMENT

For the 3 month period ended	Arch	31,04	<u>.</u>	
Particulars Total Supply Volumes Purchased	<u>Unit</u> Mof	Month 1 (<u>± Au</u>) 1636(Month 2 (€eB) 14(128	Month 3 (MAr)
Total Cost of Volumes Purchased	\$	144377	97889	82195
+ Total Sales (may not be less than 95% of supply volumes)	Mcf	16528	15802	11192
= Unit Cost of Gas	\$/Mcf	8.7195	6.1947	7.3441
- EGC in effect for month	\$/Mcf	6.5283	6.5283	6.5283
= Difference	\$/Mcf	2,1912	(.3334)	8218.
[(Over-)/Under-Recovery] x Actual sales during month	Mof	16518	15802	11192
= Monthly cost difference	\$	36282	(5272)	9130

	Unit	Amount
Total cost difference (Month 1 + Month 2 + Month 3) \$	40140
÷ Sales for 12 months ended MArch 31,04	Mcf	412801
= Actual Adjustment for the Reporting Period (to Schedule IC.)	\$/Mcf	,3878

SCHEDULE V

BALANCE ADJUSTMENT

For the 3 month period ended MAVUL 31,04

		•	
	Particulars	Unit	Amount
(1)	Total Cost Difference used to compute AA of the GCR effective four quarters prior to the effective date of the currently effective GCR.	\$	(17814)
	Less: Dollar amount resulting from the AA of (.2781) \$/Mcf as used to compute the GCR in effect	\$	
	four quarters prior to the effective date of the currently effective GCR times the sales of 1000 (4 Mcf during the 12-month period the AA was in effect.		(18881)
	Equals: Balance Adjustment for the AA.	ş	****
(2)	Total Supplier Refund Adjustment including interest		11015
` ,	used to compute RA of the GCR effective four quarters prior to the effective date of the currently effective GCR.	\$	
	Less: Dollar amount resulting from the RA of \$/Mcf as used to compute the GCR in effect four quarters prior to the effective date of the currently effective GCR times the sales of Mcf during	\$	
	the 12-month period the RA was in effect. Equals: Balance Adjustment for the RA.	ş	
(3)	Total Balance Adjustment used to compute BA of the		
(+)	GCR effective four quarters prior to the effective date of the currently effective GCR.	\$	
	Less: Dollar amount resulting from the BA of \$/Mcf as used to compute the GCR in effect four quarters prior to the effective date of the currently effective GCR times the sales of Mcf during the 12-month period the BA was in effect.	\$	
	Equals: Balance Adjustment for the BA.	\$	
Total	Balance Adjustment Amount (1) + (2) + (3)	\$	11015
+ Sal	es for 12 months ended MANUS (04	Mcf	103514
= Bal	ance Adjustment for the Reporting Period (to Schedule ID.)	\$/Mcf	,1064

Auxien Road Gas Company, Inc.

Box 785 Prestonsburg, Kentucky 41653

Estill B. Branham President

(606) 886-2314

	Base late	Coas Cost Recovery	total
first MCE (Minimum BILL)	5,(1	6.2748	81185.11
ALL Over first mce	4.2599	6.2748	10.5347

Constellation NewEnergy - Gas Division

9960 Corporate Campus Dr. Suita 2000, Lauisville, KY 49223 Phone: (502) 428-4500 Fax: (502) 426-8800

Estiil Brannam 606-886-2314 606/889-0466

Estimated Citygate Prices if Bought Monthly AUXIER ROAD GAS COMPANY

Month	NYMEX 05/26/04	(B) Basis	TCO Fuel	(D) TCO Transportation	(E) Auxier Road Gas Citygate (\$/Dth) (A+B)/(C+D)	(F) Estimated Consumption Oth	(G) Total Cost Monthly (E*F)
Jul-04	\$6.7320	SUSSE US	0.0743	2000	******	(2003 Consumption was zero)	
Aug-04	\$6 7500	\$0.5000 \$0.5000	0.0210	90.2.00	\$7.7143	0	\$0.00
Sep-DA	\$6.7340	0.000	0.9/43	\$0,2300	\$7.7421	0	\$0.00
000	0477.0¢	\$0.000	0.8/43	\$0.2300	\$7.7061	0	\$0.00
						0	\$0.00

WACOG = \$7.72 * 1.213 9.3644 MCF

Columbia/Kesources 6.69× 1.213=K 8.11497*

	COLUMBIA NATURAL RESOURCES, 900 Pennsylvania Avenue	SOURCES, LLC Avenue		
		70 ia 25362-0070		
			CLIENT NO.: CONTRACT NO.: INVOICE NUMBER: VOUCHER NUMBER:	089985-01 SSE003 SSE0030403 00403579
NAME: Auxier Road Gas Company Inc. ADDRESS: P.O. Box 785	·			
CITY: Prestonburg, KY 41653 ATTN: Estill Branham				
DESCRIPTION	DTH	BILLING RATE	AMOUNT	DATE
Current Volumes	11,543	\$ 6.69	\$77,222.67	2/04
** NEI	i	MARCH 31 2004**	# P P P P P P P P P P P P P P P P P P P	
	NET AMOUNT DUE ON OR BEFORE	MARCH 31, 2004**		
Make Check Payable To:	Columbia Natural Resources,	es, Inc.		
Please Remit Check To:	P.O. Box 1073			
Diago Batting One Control of This Invasion With Wa	Charleston, WV 25324			
rease Seculi One copy Of This invoice with four Remittance	ur Remittance			

Post Office Box 785 Prestonsburg, Kentucky 41653

Estill B. Branham President

(606) 890 1344 7 2004

May 25, 2004

Sigma Gas Corporation P. O. Box 22 Salyersville, KY 41465

APRIL 2004

The following is for gas purchases from Auxier Road Gas Co., Inc.

DATE	MCF <u>USAGE</u>	RATE PER MCF	AMOUNT
4/04	3,447	\$5.8417	\$20,136.32

5/20/64 Ch# 607784

Post Office Box 785 Prestonsburg, Kentucky 41653

Estill B. Branham President

(606) 886-2314

April 25, 2004

Sigma Gas Corporation P. O. Box 22 Salyersville, KY 41465

MARCH 2004

The following is for gas purchases from Auxier Road Gas Co., Inc.

DATE	MCF <u>USAGE</u>	RATE PER MCF	AMOUNT
3/04	5,607	\$7.4156	\$41,579.28

PJ 4/22/04 CleH 007724

Check #7725 SIGHA GAS CORPORATION
P.O. BOX 22
SALYERSWILE KENTUCKY 41465 JOHN DEPENDENCE SELLOG Paid :04/26/2004 007725 \$41579.28 VB2 6451 1000. 007725 Check #7725 Paid :04/26/2004 \$41579.28

Post Office Box 785 Prestonsburg, Kentucky 41653

Estill B. Branham President

(606) 886-2314

March 31, 2004

Sigma Gas Corporation P. O. Box 22 Salyersville, KY 41465

FEBRUARY 2004

The following is for gas purchases from Auxier Road Gas Co., Inc.

<u>DATE</u>	MCF <u>USAGE</u>	RATE PER MCF	<u>AMOUNT</u>
2/04	8,601	\$6.9287	\$59,593.99

Pd 3/30/04 Cut 007665 SIGMA GAS CORPORATION
P.O. BOX 22
SALYERSVILLE KENTUCKY 41465

DATE CHECK NO. AMOUNT
PIFTY BLUE THOUSAND FIVE HUNDRED BIRETY THREE AND 3/30/04 \$59,593.99

PAY
TO THE ORDER OF AUXIET Road Gas Co., Inc.

ESTAIR Resolution

FOO?665* 1:04.210594.74: 4701880*

ADDITIONAL THREE AND 3/30/04 \$59,593.99

PAY
TO THE ORDER OF AUXIET Road Gas Co., Inc.

Check #7665

Paid:04/01/2004

\$59593.99

Check #7665

Paid:04/01/2004

.

\$

Post Office Box 785 Prestonsburg, Kentucky 41653

Estill B. Branham President (606) 886-2314

February 29, 2004

Sigma Gas Corporation P. O. Box 22 Salyersville, KY 41465

JANUARY 2004

The following is for gas purchases from Auxier Road Gas Co., Inc.

DATE	MCF <u>USAGE</u>	RATE PER MCF	AMOUNT
1/04	10,329	\$8.8244	\$91,146.23

7 /3/04 3 /3/04 Cht 4 0076/5

Chack #7815 MIRKET ORE TROUSAND ORE BURDRED PORTY SIX AND 23/100----SIGMA GAS CORPORATION
P.O. BOX 22
SALYERSVILLE KENTUCKY 41486 +007615+ #012105917# 1901880+ Paid :03/05/2004 3/3/04 007615 \$91146.23 JE2 911 1 6000/ \$91,146.23 007615 Check #7615

Paid:03/05/2004

\$91146

Page: 23
Statement Date: 03/31/20
Account Number: 49018

\$91146,23

Paid:03/05/2004 \653444P000\ P.O. BOX 22 919700 GAS CORPORATION

Account Number: 4901880 Statement Date: 03/31/2004